1) 1(4,24); 9) 134}

2) {(10,20)} 10){(3,-2)}
3) {(18,6)} 11) {(5,-7)}
4) {(8,2)} 12) {(4,12)}
$) ((7.5)} 13) {(-1,%5)}
’ 14) {(100,125)}
6) {(11,5)} 15) {(3.5)}
7){(2,7)}
8) {(-4,-3)}
{(2,-1)} {(8,-2)}
§) c= evd= 16
C=3(5)"" ESJ-‘D-PA: (6
C= Hd-Y = 3
Yd-Y+4 = 16+9

44 =20
7 7




3b-2 -2 =2b-2b-¢
b-3:-6
b-3+3 2-(+2

|

lo> 3ns SM
<\ mln 4= )
3n+ 5[:*'\*2_]‘-‘7 |

ms Yn+ &

2N +20n+30=7) S4r N |
23+ 430=77 zg‘g') ¢
2314303 =)-3D
Bn=-23 | 21T

23 23




2=—"l5

) 3,2(2%
3L rzg=u (2220

x= -34':2

-|2',+6‘\-2c1 =
~10y + 6 =11
-by46-6=1l-6

"oy =5

-0 =i

=-4(-2)+2
X=242=9

243




